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>>> hello = ‘hello, world\n’

>>> hellos = repr(hello)

>>> print(hellos)

‘hello, world\n’
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>>>repr((x, y, (‘spam’, ‘eggs’)))
“(32.5, 40000, (‘spam’, ‘eggs’))”
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>>> g = ‘Hello world’

>>> str(s)

‘Hello world’

>>> repr(s)

“‘Hello world””

>>> str(1/7)

‘0.14285714285714285°

>>>x =10 *3.25

>>>y =200 * 200

>>> g = ‘x is “trepr(x)+’, y

is “+repr(y)
>>> print(s)

>>> for X in range(1,6):
print(repr(x).rjust(3),repr(x
*x).1just(4),end="")
print(repr(x*x*x).rjust(5))
I 1 1
2 4 8
3 9 27
4 16 64
5 25 125
>>> for X in range(1,6):
print(‘ {0:3d} {1:4d} {2:5d}
> format(x,x*x,x*x*x))
I 1
2 4 8
3 9 27
4 16 64
525 125
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>>> 12 zfill(5)
‘00012’
>>> <127 zfill(5)

>>> 4123456’ zfill(5)

‘123456’
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>>> print(‘we are {}’.for-
mat(‘student’))

we are student

LR JIHG IR G (TS
FRIRLET (A =
a6 ) str.format()
far «ffSs =11 e
SHfemIe J0T T TR |

>>> print(‘{0} and
{1}’.format(‘spam’,’eggs’))

spam and eggs

>>>  print(‘{1} and
{0}’.format(‘spam’,’eggs’))

eggs and spam
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>>> print(‘this {item} is
{quality}’.format(item =
‘book’, quality = ‘good’))

this book is good
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>>>print(‘the story of {0}, {1}
and {third}’ format(‘Bill’,’Mike”’,
third = ‘Georg’))
the story of Bill, Mike and Georg
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>>> import math

>>> print(‘approx PI
{}’.format(math.pi))

approx PI : 3.14159265359

>>> print(‘approx PI
{Ir}’.format(math.pi))
approx PI : 3.141592653589793
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>>> print(‘approx PI
{0:.3f}’.format(math.pi))

approx PI:3.142
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>>> table = {‘Sjoerd’: 4127,
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phone))
Dcab => 8637678
Sjoerd ==> 4127
Jack ==> 4098
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>>> print(‘Jack: {0[Jack]:d};
Sjoerd: {0[Sjoerd]:d}; Dcab:
{O[Dcab]:d}’.format(table))

Jack: 4098; Sjoerd: 4127;
Dcab: 8637678
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>>> print(‘Jack: {Jack:d};
Sjoerd: {Sjoerd:d}; Dcab:
{Dcab:d}’.format(**table))

Jack: 4098; Sjoerd: 4127;
Dcab: 8637678
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f = open(‘workfile’, ‘w’)

>>> f.write(‘this is first line\n”)
19

>>> f.write(‘this is second line\n’)
20

>>> f.write(‘this is third line\n’)
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>>> f = open(‘workfile’, ‘r’)

>>> f.read()

‘this is first line\nthis is second
line\nthis is third line\n’

>>> f.read()
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>>> f = open(‘workfile’, ‘r’)
>>> f.readline()

‘this is first line\n’

>>> f.readline()

‘this is second line\n’

>>> f.readline()

‘this is third line\n’

>>> f.readline()
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>>> for line in f;
print(line, end="")

this is first line

this is second line

this is third line
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>>> with open(‘workfile’, ‘r’) as f:
read data = f.read()

>>> f.closed

True
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